Bid No.: RFB 2020-03

## VILLAGE OF ESTERO, FLORIDA PROPOSAL QUOTE FORM FOR

## WILLIAMS ROAD AT ESTERO HIGH SCHOOL TURN LANE IMPROVEMENTS

| DATE SUBMITTED: 1/31/2020   |
|---|
| VENDOR NAME: Pavement Maintenance, LLC  |
| TO: The Village of Estero Estero, Florida   |
| Having carefully examined the "General Provisions", and the "Special Provisions", all of which are contained in the Contract Documents, the Undersigned proposes to furnish the following which meets these specifications: |
| NOTE REQUIREMENT: IT IS THE SOLE RESPONSIBILITY OF THE VENDOR TO CHECK THE VILLAGE OF ESTERO WEB SITE FOR ANY PROJECT ADDENDA ISSUED FOR THIS PROJECT THE VILLAGE WILL POST ADDENDA TO THIS WEB PAGE, BUT WILL NOT NOTIFY.  |
| The undersigned acknowledges receipt of Addenda numbers: None   |
| WILLIAMS ROAD AT ESTERO HIGH SCHOOL TURN LANE IMPROVEMENTS  |
| GRAND TOTAL: \$_448,800.00  |
| SUBSTANTIAL COMPLETION SHALL BE ACHIEVED WITHIN 90 CALENDAR DAYS AFTER RECEIPT OF NOTICE TO PROCEED/COMMENCEMENT.   |
| FINAL COMPLETION SHALL BE ACHIEVED NOT LATER THAN 30 CALENDAR DAYS FOLLOWING SUBSTANTIAL COMPLETION.  |
| Bidders should carefully read all the terms and conditions of the specifications. Any representation of deviation or modification to the bid may be grounds to reject the bid.  |
| Are there any modifications to the bid or specifications:   |
| YESNO_None  |
| Failure to clearly identify any modifications in the space below or on a separate page may be grounds for the bidder being declared nonresponsive or to have the award of the bid rescinded by the Village.                 |
| MODIFICATIONS:  |

Attn.: Bob Franceschini, C.P.M., CPPB



1640 Benchmark Avenue, Fort Myers, FL 33905 Ph: 239-334-6760 Fax: 239-334-6553 Website: http://pmioffortmyers.com

# PROPOSAL AND CONTRACT

January 31, 2020

To: Village of Estero

9401 Corkscrew Palms Circle #101

Estero, FL 33928

Pavement Maintenance, LLC., hereinafter called the Company, offers to furnish all labor, materials and equipment required for the performance of the following described work in connection with construction of improvements at:Williams Road At Estero High School Turn Lane Improvements with plans prepared by: Hole Montes

**Description of Work and Price:** 

| Item D         | escription   | Quantity | <u>Unit</u> |    | <u>Price</u> |     | <u>Total</u> |
|----------------|--|----------|-------------|----|--------------|-----|--------------|
| 101-1 M        | IOBILIZATION   | 1        | LS          | \$ | 26,400.00    | Φ.  | 26,400.00    |
|                | AINTENANCE OF TRAFFIC  |          | LS          | \$ | 26,419.80    | \$  | 26,419.80    |
|                | EDIMENT BARRIER  | 4,290    | 0.000       | \$ | 1.00         | \$  | 4,290.00     |
|                | LEARING AND GRUBBING   | 3.0100   |             | \$ | 5,000.00     | \$  | 15,050.00    |
|                | EMOVAL OF EXISTING CONCRETE  | 261      |             | \$ | 7.00         | \$  | 1,827.00     |
|                | EGULAR EXCAVATION  | 1,158    |             | \$ | 5.00         | \$  | 5,790.00     |
|                | MBANKMENT  | 580      |             | \$ | 16.00        | \$  | 9,280.00     |
|                | YPE B STABILIZATION  | 5,967    |             | \$ | 5.00         | \$  | 29,835.00    |
|                | PTIONAL BASE GROUP 6   | 153      |             | \$ | 18.00        | \$  | 2,754.00     |
|                | PTIONAL BASE GROUP 7   | 4,610    |             | \$ | 17.00        | \$  | 78,370.00    |
|                | IILLING EXISTING ASPHALT PAVEMENT (1" AVG DEPTH)   | 5,461    |             | \$ | 7.50         | \$  | 40,957.50    |
|                | SPHALTIC CONCRETE S-I  | 494      |             | \$ | 115.00       | \$  | 56,810.00    |
|                | SPHALTIC CONCRETE S-3  | 610      |             | \$ | 110.00       | \$  | 67,100.00    |
|                | .0' VALLEY GUTTER  |          | LF          | \$ | 75.00        | \$  | 5,775.00     |
|                | ONCRETE TRAFFIC SEPERATOR  |          | SY          | \$ | 240.00       | \$  | 5,760.00     |
|                | ONCRETE SIDEWALK 6" THICK  | 234      |             | \$ | 60.00        | \$  | 14,040.00    |
|                | ETECTABLE WARNING (INSET/WET SET TYPE)   |          | SF          | \$ | 25.00        | \$  | 1,600.00     |
| 570-1-2 S      | The state of the s | 4,130    |             | \$ | 2.75         | \$  | 11,357.50    |
|                | OURSE AGGREGATE  |          | LS          | \$ | 1,250.00     | \$  | 1,250.00     |
| 700-1-11 SI    | INGLE POST AND SIGN, F&I GROUND MOUNT UP TO 12 SF  | 2        | AS          | \$ | 350.00       | \$  | 700.00       |
|                | INGLE POST SIGN RELOCATE   | 1        | AS          | \$ | 100.00       | \$  | 100.00       |
| 700-1-60 SI    | INGLE POST SIGN REMOVE GROUND MOUNT  | 2        | AS          | \$ | 50.00        | \$  | 100.00       |
|                | ELINEATOR FLEXIBLE MOUNT   | 1        | EA          | \$ | 250.00       | \$  | 250.00       |
| <b>706-3</b> R | ETRO-REFLECTIVE PAVEMENT MARKER  | 247      | EA          | \$ | 6.00         | \$  | 1,482.00     |
| 710-11-190 IS  | SLAND NOSE PAINT WHITE   | 7.0000   | SF          | \$ | 125.00       | \$  | 875.00       |
| 711-11-101 TI  | HERMOPLASTIC STD WHITE SOLID 6"  | 0.8400   | GM          | \$ | 15,840.00    | \$  | 13,305.60    |
| 711-11-123 TI  | HERMOPLASTIC STD WHITE SOLID 12"   | 282      | LF          | \$ | 6.00         | \$  | 1,692.00     |
| 711-11-125 TI  | HERMOPLASTIC STD WHITE SOLID 24"   | 47       | LF          | \$ | 24.00        | \$  | 1,128.00     |
| 711-11-201 TI  | HERMOPLASTIC STD YELLOW SOLID 6"   | 1.0900   | GM          | \$ | 15,840.00    | \$  | 17,265.60    |
| 711-11-224 TI  | HERMOPLASTIC STD YELLOW SOLID 18"  | 404      | LF          | \$ | 9.00         | \$  | 3,636.00     |
| 711-14-170 TI  | HERMOPLASTIC PREFORMED WHITE ARROW   | 15       | EA          | \$ | 240.00       | \$  | 3,600.00     |
|                |  |          |             | TO | TAL          | \$4 | 148,800.00   |

#### Notes:

Unit price above are based on normal working hours and does not include working at night.



Not responsible for private utilities not located by the respective owner.

Proposal is based off civil plans only. Excludes any item not specifically shown on civils.

\* Items not included in the Lee County Contract

**Exclusions:** 

**Permits & Impact Fees** 

**Rock Excavation or Removal from Site** 

**Exotic Vegetation Removal or Selective Clearing** 

Sod, Seed, or Mulch for Stabilization or Landscaping

Top Soil

Removal of unsuitable fill or replacement with acceptable material

Rip-Rap

Demucking

Dewatering

Pipe Bollards

Blank Utility Conduits - Not Shown - Not Quoted

**Irrigation Sleeves** 

**NPDES Monitoring & Reports** 

Clean or Removal of Any Rocks or Debris Left By Other Trades

Temp. Water Meter

Removal of Asphalt more then 3" thick.

Maintenance of Silt Fence when not On-Site

Repair of Broken Irrigation Heads/ Lines

Any alteration or deviation from above specifications involving extra cost, will be executed upon written orders and will become an extra charge over the estimate. All agreements contingent upon strikes, accidents or delays beyond our control. Owner to carry fire, tornado and other necessary insurance upon above work. Worker's Compensation and public liability Insurance on the above work to be taken out by:

### Pavement Maintenance, LLC.

Note: This proposal may be withdrawn by us if not accepted within 30 days. Terms 30 days.

Approved By:

Pavement Maintenance, LLC.

### **Acceptance of Proposal**

The above prices, specifications and conditions are satisfactory and herby accepted. You are authorized to do the work specified. Payment will be made as outlined above.

| Date | Signature |
|------|-----------|
|      |           |

Bid No.: RFB 2020-03

### ANTI-COLLUSION STATEMENT

THE BELOW SIGNED VENDOR HAS NOT DIVULGED TO, DISCUSSED OR COMPARED HIS RESPONSE WITH OTHER VENDORS AND HAS NOT COLLUDED WITH ANY OTHER VENDOR OR PARTIES TO A RESPONSE WHATSOEVER. NOTE: NO PREMIUMS, REBATES OR GRATUITIES TO ANY EMPLOYEE OR AGENT ARE PERMITTED EITHER WITH, PRIOR TO, OR AFTER ANY DELIVERY OF MATERIALS.

| FIRM NAME Pavement Maintenance, LLC   |
|---|
| BY (Printed):Joseph Ward  |
| BY (Signature):   |
| TITLE: Manager  |
| FEDERAL ID # OR S.S.# 45-4792573  |
| ADDRESS: 1640 Benchmark Ave. Fort Myers, FL 33905                           |
|   |
| PHONE NO.: (239)334-6760  |
| FAX NO.: <u>(239)334-6553</u>   |
| CELLULAR PHONE NO.: (239)218-4767; (239)900-7684                            |
| E-MAIL ADDRESS: <u>Jward@pmioffortmyers.com</u> ; Mgomez@pmioffortmyers.com |